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Redux T+ - createStore

const store = createStore(reducer, initialState);

store.getState();
store.dispatch(action);
store.subscribe(listener);




createStore € - X7|g}

function createStore(reducer, initialState) {
let currentReducer = reducer;
let currentState = initialState;
const listeners = [];
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createStore & - getState()

function createStore(reducer, initialState) {
let currentReducer = reducer;

5o

function getState() {
return currentState;

}
¥




createStore & - subscribe(listener)

function createStore(reducer, initialState) {

50

const listeners = [];

function subscribe(listener) {
listeners.push(listener);

return function unsubscribe() {
const index = listeners.indexOf(listener);
listeners.splice(index, 1);
}s
}
}




createStore €< - dispatch(action)

function createStore(reducer, initialState) {
let currentReducer = reducer;
let currentState = initialState;
const listeners = [];
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function dispatch(action) {
// currentReducer: (state, action) => newState
currentState = currentReducer(currentState, action);
listeners.forEach((listener) => listener());
return action;

}
}




createStore €< - dispatch(action)

function createStore(reducer, initialState) {
let currentReducer = reducer;
let currentState = initialState;
const listeners = [];

function getState() {
//...
}

function subscribe(listener) {
IEEE:
}

function dispatch(action) {
(oo
}

return { getState, subscribe, dispatch };




Redux Tt¥ - applyMiddlewares

const middlewarel = (store) => (next) => (action) => {
// X2
const result = next(action);
/] XL
return result;

}s
const middleware2 = (store) => (next) => (action) => next(action);

const enhancer = applyMiddleware(middlewarel, middleware2);
const store = createStore(reducer, initialState, enhancer);
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https://codesandbox.io/s/simple-redux-1ltzy
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applyMiddleware &% - £7|3}

const applyMiddleware = (...middlewares) => (createStore) => (...storeArgs) => {
const store = createStore(...storeArgs);
/] ...
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applyMiddleware & - store &2

const applyMiddleware = (...middlewares) => (createStore) => (...storeArgs) => {
const store = createStore(...storeArgs);
/*
middleware: (store) => (next) => (action) => next(action)
middlewaresWithStore: [(next) => (action) => next(action)]
*/
const middlewaresWithStore = middlewares.map((middleware) => middleware(store));
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applyMiddleware €= - middleware H|0|'d

const applyMiddleware

/] ...
// middlewaresWithStore: [(next) => (action) => next(action)]

(...middlewares) => (createStore) => (...storeArgs) => {

// chainedMiddlewares: next => action => mi(m2(m3(...(next))))(action);
const chainedMiddlewares = middlewaresWithStore.reduce((a, b) => (next) => a(b(next)));

%




applyMiddleware &= - middleware X|0]'d

[ml, m2, m3].reduce((a, b) => (next) => a(b(next)));
7| A m1,m2,m3+< (next) => (action) => next(action) Y E{ 2| &=
1. 27|%40| QIS B2 aE= m10| &1, b= m27t =L},
(m1, m2) => (next) => m1(m2(next))

2. 12| Z1I2l (next) => m1(m2(next)) S cE X|=totCHH,
(c, m3) => (next) => c(m3(next))
cE CIA| X|=2HSHHA, (next) => m1(m2(m3(next)))
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applyMiddleware St - OFX| 8} next

const applyMiddleware = (..
/] ...
// chainedMiddlewares: next => action => mli(m2(m3(..
const chainedMiddlewares = middlewaresWithStore.reduce((a,
// dispatch: action => a(b(c(...(store.dispatch))))(action)
const dispatch = chainedMiddlewares(store.dispatch);
return {
..store,
dispatch,
}s
}s

. (next))

.middlewares) => (createStore) => (..

.storeArgs) => {

))(action);

b) => (next) => a(b(next)));




applyMiddleware &< - createStore &+ Z|HET

function createStore(reducer, initialState, enhancer) {
let currentReducer = reducer;
let currentState = initialState;
const listeners = [];

function getState() { ... }
function subscribe(listener) { ... }
function dispatch(action) { ... }

if (enhancer) {
return enhancer(createStore) (reducer, initialState);
}

return { getState, subscribe, dispatch };
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https://codesandbox.io/s/simple-redux-with-applymiddleware-sgow;j
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e https://github.com/reduxjs/redux

e https://qgist.github.com/gaearon/ffd88b0e4f00b22c3159
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